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trial pole (funicular construction)
i intersection point of closing string

and line of action of resultant
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node numbers (Roman) (I,II, etc) from the library. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye.
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External force, 1mm distance to structure / forces Support forces, use distance holder, get intersection point than circle with 15 mm. dashed line will not be printed
External force, 1mm distance to structure / forces Support forces, use distance holder, get intersection point than circle with 15 mm. dashed line will not be printed
External force, 1mm distance to structure / forces Support forces, use distance holder, get intersection point than circle with 15 mm. dashed line will not be printed
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the dashed-auxiliary layer can be used  for multiple purposes-- subsystem  borders--complex constructions etc.

auxiliary construction with the resultant, or reference of the previous drawing--> change the line property to
BRG  dashed, but keep the "right" layer or reference of the previous drawing--> change the line property to
BRG  dashed, but keep the "right" layer or reference of the previous drawing--> change the line property to
BRG  dashed, but keep the "right" layer
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This is what you get if you take the preset dimensioning styles --> you shold add 5 mm long lines
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Cremona- Construction without notation
only external forces..full arrow head

Notation - Force Diagram

Case 2: diagonal forces
name for forces from library, name always in the pink triangle that shows to the center,
corner point in the center

support force is 1,5 cm long, but in case it its represented in
horizontal and vertical components it is relatively
related to the magnitude

cable

Arrows & Arrowheads - Lengths

arch

Case 1: only vertical forces
name for forces from library, vertical forces--> name always on the right side of the force, in the center

Notation - Form Diagram
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letters with subscription and bounding box
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Position of arrowheads

uniformly distributed load, 0.5 cm and arrow head 2mm

External Single and Support Force, 1.5 cm long and arrow head 3.5 mm

Resultant Force 2, cm long and arrow head 4.5 mm
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BRG  dashed, but keep the "right" layer

Line Types / Layers

Dimensioning - 0 commas

Dimensioning - 1 commas

Dimensioning - 2 commas

This is what you get if you take the preset dimensioning styles --> you shold add 5 mm long lines

Dimensioning

Cremona- Construction with notation
external eq..corner point of name goes to the center of the line

1.501.00

Cremona- Construction without notation inner forces always precise without arrowhead,  external with an offset of 1.0 mm and with half
arrow heads when internal eq is also shown inner forces always precise without arrowhead,  external with an offset of 1.0 mm and with half
arrow heads when internal eq is also shown inner forces always precise without arrowhead,  external with an offset of 1.0 mm and with half
arrow heads when internal eq is also shown

Cremona- Construction without notation
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Notation - Force Diagram

Case 2: diagonal forces
name for forces from library, name always in the pink triangle that shows to the center,
corner point in the center
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support force is 1,5 cm long, but in case it its represented in
horizontal and vertical components it is relatively
related to the magnitude

Arrows & Arrowheads - Lengths

arch

Case 1: only vertical forces
name for forces from library, vertical forces--> name always on the right side of the force, in the center

Notation - Form Diagram
element / subsystem numbers, from library. always in the center of the line
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letters with subscription and bounding box

Position of arrowheads

uniformly distributed load, 0.5 cm and arrow head 2mm

External Single and Support Force, 1.5 cm long and arrow head 3.5 mm

Resultant Force 2, cm long and arrow head 4.5 mm
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node numbers (Roman) (I,II, etc) from the library. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye. if possible, place the node number to the right of the node also
if possible below the node otherwise use your eye.
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Notation - Force Diagram

Case 2: diagonal forces
name for forces from library, name always in the pink triangle that shows to the center,
corner point in the center

support force is 1,5 cm long, but in case it its represented in
horizontal and vertical components it is relatively
related to the magnitude
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Arrows & Arrowheads - Lengths

arch

Case 1: only vertical forces
name for forces from library, vertical forces--> name always on the right side of the force, in the center
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uniformly distributed load, 0.5 cm and arrow head 2mm

External Single and Support Force, 1.5 cm long and arrow head 3.5 mm

Resultant Force 2, cm long and arrow head 4.5 mm
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corner point in the center

cable

support force is 1,5 cm long, but in case it its represented in
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related to the magnitude

Arrows & Arrowheads - Lengths

arch

Case 1: only vertical forces
name for forces from library, vertical forces--> name always on the right side of the force, in the center

Notation - Form Diagram
element / subsystem numbers, from library. always in the center of the line

alphabet
letters with subscription and bounding box

Position of arrowheads

uniformly distributed load, 0.5 cm and arrow head 2mm

External Single and Support Force, 1.5 cm long and arrow head 3.5 mm

Resultant Force 2, cm long and arrow head 4.5 mm
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Tributary Areas

A surface load acts on the entire structure. To determine the load that a relevant vertical element must carry, the so-called tributary 
area is determined. This is a partial area of the area load. As a general rule, loads directly go to the nearest support. Therefore, the 
distance between two load-bearing elements is halved in each case to find the dimensions of the respective tributary area. 

Tributary area of a column

Tributary area of a beam

A load situation is given with an applied surface load acting on a slab, which in turn rests on a series of supports. If the distances 
between the supports are halved, the respective tributary areas of the supports are created. In the following example, the tributary area 
on a central column is four times as large as that on a corner column. Therefore, when dimensioning, the centre column is considered, 
as it experiences the largest force. To calculate the resulting point load on the centre column, the area load is multiplied by the size of 
the tributary area.

A load situation is given with an applied surface load acting on a plate, which in turn rests on a series of beams. Analogous to the 
example above, the respective tributary areas are created when the distances between the beams are halved. In the following example, 
the tributary area of a middle beam is twice as large as that on a beam at the edge of the slab. When dimensioning, therefore, the 
middle beam is again considered, as it experiences the largest force. In order to calculate the resulting point load, the area load is 
multiplied by the size of the tributary area. Since the wall is a linear element, the magnitude of the line load might also be of use. This 
is calculated by dividing the resultant by the length of the element.


